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1 |REILERET 0.10 0.12 0.28 21 (EIERISFAET 0.13 0.20 0.61

2 | E-eEEEE ) 0.14 0.22 0.39 50cm | 3[E1RIE F 13 1E 22 [F—ILAOHEKE 0.06 0.10 0.27

3 [sAEALEEEE (F) 0.16 0.20 0.27 23 |RBEHRR 0.06 0.06 0.07

4 |BEEMMET 0.10 0.10 0.14 24 |Bbi5 0.08 0.08 0.06

5 [EYETHRAIE 0.09 0.13 0.26 25 [1FE FyRIL—L 0.07 0.05 0.06

6 [ABFEADRIEE 0.10 0.12 0.16 26 (3f A—TUIL—LA 0.06 0.06 0.06

7 |AELEAOQRET 0.14 0.24 1.25  |50cmI3[EAIE T4 E 27 |RERELHKA 0.10 0.16 0.47

8 |y AEFEEIE L) 0.11 0.12 0.23 28 |R&EIFERLHKO 0.10 0.15 0.33

9 [sMETERIE () 0.15 0.14 0.22 29 |REBELHKA 0.09 0.12 0.23

10 [#F&EE 0.09 0.09 0.09 30 |KR&EIFERLHKO 0.08 0.11 0.22

11 |[FT—LERAEETNE 0.10 0.15 0.37 31

12 |5 FErEEE () 0.13 0.15 0.18 32

13 |#RErEfliE 0.11 0.16 0.28 33

14 [#EEALEIE 0.09 0.11 0.18 34

15 [REBEWET 0.10 0.15 0.47 35

16 |[#XEREIE 0.1 0.15 0.25 36

17 |s+ErEAE L) 0.10 0.12 0.18 37

18 |B=/"EFMMET 0.11 0.12 0.28 38

19 [REILERFAHET 0.15 0.15 0.28 39

20 |5hEALAE 0.13 0.16 0.37 40
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